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FN: BSE
g Es8 A EH
el FOIBED 25 BA EX (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 1,300 1,300 0
09 HALAHIX RS 1,300 1,300 0
OYHHIEIN2 A (SH22H) 1,300
KIS0 2 A 346,813 334,988 11,825
A2 FFHA KA 246,813 334,988 A 88,175
101 @144 dl 4,673 2,272 2,401
04 JIZtHZ2XREES 4,673 2,272 2,401
Osd&d &l 68,720 x2H x340H & 4,673
201 Let24d] 40,700 40,700 0
01 AP 2teltl 33,000 33,000 0
og x =z 33,000
—S¥YR (Moo S) 33,000
WS 550,000& 40 22,000
g = 550,000& 20 11,000
02 2324l 7,700 7,700 0
Osdd, 28 |X22 100,000 »77H 2= 7,700
401 AIEHIZ 28I 201,440 292,016 290,576
01 A& Hl 200,000 290,000 290,000
Oatotel o2 L di+=2 Al (L=330m) 30,000
OtHetif et & ti==2 &l (L=200m) 30,000
OMHAEALEH & = 40,000
Oz =0Utdl =2 &l (20012) 30,000
OBBAE AR B4(10044) 30,000
O&s2%, 2F Fl 40,000
03 AlZ S THHI 1,440 2,016 A576
OF2U=AAY S 200,000,000& *0.72% 1,440
S8 XY 243 A 100,000 0 100,000
401 AIEHI L 201 100,000 0 100,000
01 A& tl 100,000 0 100,000
OHYET =22 U TP HaAY 100,000
HY2IZH (E=sS) 241,099 243,189 A 2,090
olet 2 | 78,406 79,636 A1,230
ol Al 78,406 79,636 A 1,230
101 1A Hl 78,406 79,636 A 1,230
01 2= 75,789 78,924 A 3,135
OANZ22R4aY HHZ(15Y) 18,039
— 6= 11,6343 x5 x10A| 2t+ 128 6,981
—7= 10,5093 «3H 10Al 2t« 128 3,784
— 8= 9,434 1P 10Al 2t 123 1,133
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2N BES
HM: HY2HAH (EsS)
Ee: I3 (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
-5 & 150,000 x 128 =12 1,800
-2 50,000 x 1 x12& 600
03 EHELRAY 2,400 2,400 0
ONSRELRESH| 100,000 22 12 2,400
405 XHAHE S H) 6,140 500 5,640
01 AL 2B F S| 6,140 500 5,640
OSHA Wetd|(1th) 700
OgAIE &EO0l4!l HIOIS 136,000 =404 5,440




= o
A & 0l & AF 2 E A A
S£AM: HoteH
A 0 A
ool RABH A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CHOHH 750,101 522,299 227,802
CHOH A ZHI 530,196 355,008 175,188
TxHEy A 132,473 77,004 55,469
o FHEH 10,100 10,100 0
301 LPEAZF 10,100 10,100 0
09 HALAHIXI &3 10,100 10,100 0
OBdENs & 3 4 24 2,100
OHE2Y NMEA =& S 8,000
E2H & F 38,221 37,952 269
101 @124 dl 31,221 30,952 269
04 DIt 22 XREES 31,221 30,952 269
O==2¥ EHII S 120,000 *12H x5 33| 21,600
OM=X H& HZ2HMAH S 68,720 +8H+5 2,749
Oizstet & 22 £4 S
68,7203 x10H 10 6,872
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
OJzstet & 22X e + 5,000
401 Al HIZ 201 8] 2,000 0 2,000
01 A& HI 2,000 0 2,000
O&EAMN E 23t M F 2,000
AsgyHiied A 3,360 2,784 576
301 LetEBAF 3,360 2,784 576
04 A2 HUAH XA 3,360 2,784 576
OS2 YHHISY OFalHI
4,000 x35H »23| « 123 3,360
LALS 8,324 8,208 116
101 14l 4,124 4,008 116
04 JI2ZtHZ22HEE = 4,124 4,008 116
OotAHEAAS 68,7203 x 1«60 4,124
206 M= Hl 4,200 4,200 0
01 =8l 4,200 4,200 0
OZIAY 7 SHAHY 4,200
=SX g2 22 15,646 12,288 3,358
101 @144 dl 2,062 2,004 58
04 JIZHHZ2XREES 2,062 2,004 58
OJ2ate sX2el 68,7203 x5 H 32 23| 2,062
201 Let2d] 9,584 9,584 0




© OHOHeH
D OHOHE AFH ZHI
AR EE A

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
01 At 22l 3,984 3,984 0
oZeles FY (&N, EA88 8)
200,000& »12& 2,400
ORZHEA == 132,000 =123 1,584
02 =224l 5,600 5,600 0
O03323(HIL3, Hdl==ER23 S)
300,000& »12& 3,600
OA& &8l ®Xldl| 2,000
405 XHoHF S HI 4,000 700 3,300
01 XAt 2 ZFH S| 4,000 700 3,300
Oo=sXaz oz 7 2,000,000% »2CH 4,000
22X =8 Fdl ALY 56,822 5,672 51,150
101 @124 dl 9,622 5,672 3,950
4 DIt Z2XREES 9,622 5,672 3,950
OEHE A etz H= ZHIDI S
68,7203 x5H x10 3,436
OHE A H=H= SFHs S
68,7203 x1H 352 2,406
OEHE A S¢t2 HHl S 68,7203 x5 x11& 3,780
201 Let24d] 7,200 0 7,200
01 At 2teltl 6,000 0 6,000
OEHE L HI3HE stEA L o4 AXt 6,000
— stEa 4,000,000& * 104 2 4,000
- 294 2,000,000& =14 2~ 2,000
02 =224l 1,200 0 1,200
OEIH A SazZ 28 dMIlZ
50,0003 204 A 12 1,200
401 Al& I 28I 40,000 0 40,000
01 A& Bl 40,000 0 40,000
OHE & =XE Fl 30,000
OEHE & =XE HIIAIE 10,000
FOStet)t 2t AL =& 112,501 7,300 105,201
oot 2stas XId 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OO0t 2st8s S HAXE 6,000
sS2s Al 1,300 1,300 0
301 LBENZ 1,300 1,300 0
09 SALEHIX A S 1,300 1,300 0
OuxZ)| HHABA(H22H) 1,300




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES e 2
=3t HAlE 20,650 20,650
101 @14 Hl 3,436 3,436
04 JIZHHZ2XNEE S 3,436 3,436
O&AlEl 23tATH 2el 68,7203 x5H 102! 3,436
201 L4l 10,339 10,339
01 At 22l 10,339 10,339
O=3 #Ag = oF WA 2 AR
60,0003 *50H A 300
O=3s dAE 2 Xl 3,000
023 HAF 2 2 Ayl
8,000& x8H +30 1,920
O&Al HE &X 1,000
OgAzETA X 3,000
O=st HAY 22EE FLU(HEX, EAES
g) 1,119
206 M= Hl 2,375 2,375
01 M2 4l 2,375 2,375
O=23 dANME 2 5,000& *475= 2,375
401 Al HI K 201 I 4,500 4,500
04 SHAL2tA Al & HI 4,500 4,500
OUEHMZstE M 1,000, 000& 34 3,000
O &stE MA 500,000& *3H 1,500
AHOHZ A 5,200 5,200
201 Let24d] 3,200 3,200
01 At 2teltl 2,200 2,200
OXHOHZ A & AH( DT AL) XX
550,000& x4 2,200
03 &AL Z I 1,000 1,000
OXHZH WIAA 23l 1,000
301 LEHZ 2,000 2,000
09 HALAHIX RS 2,000 2,000
OXH3s Xtz S A 2,000
EHE AtOtE OFM 3 =4 79,351 79,351
101 124 dl 29,551 29,551
4 JI2ZtHZ22XEE+ 29,551 29,551
OEHE & OF & 3t 2tel
68,720 x10H 21 14,432
OEHE & OF 44 3} gd Zdl s
68,7203 x 10 x22 15,119
201 Let24E] 13,800 13,800




SAH: Tt
HE: (40 ALY
el FOIBE T 2auA XX (B9 ®R)

SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
01 AFR2 22l Yl 13,800 0 13,800
OEHAE A OFMSIEHX] AHl HHLX2
550,000& =22 12,100
OEHE A S&tE O3 ATHEX Y= 1,700
206 M = Hl 11,000 0 11,000
01 M= bl 11,000 0 11,000
EIU (=5 L ¥asa) 5,000
OENF A OFMSE A 2L s L HES 6,000
401 Al HI L 2 0HHI 25,000 0 25,000
01 A& HI 25,000 0 25,000
OENF A OFMG =H #HH FHIAIS 10,000
OENF A OFMSE =H Hix=Z2 UMY 15,000
RSPl =1y 285,222 270,704 14,518
A8 3F0HA A 285,222 270,704 14,518
101 @124l 1,650 1,604 46
04 JI2ZtHZ2E2XNEE* 1,650 1,604 46
OsZd& &l 68,720 x24Il 2~ 1,650
201 et A | 21,700 17,300 4,400
01 AFR2t2ldl 16,500 12,100 4,400
og x & 16,500
—HYEALZ=ZX (Mo S) 16,500
S 550,000& 20! 11,000
gz 550,000& *10 5,500
02 3524t 5,200 5,200 0
Osdd, 28 A2 100, 000& 521 2~ 5,200
401 AIEHIL 20| 261,872 251,800 10,072
01 Al& bl 260,000 250,000 10,000
Ouot =1 =2 Al 30,000
OU0r tHH0t2 =2 &bl 20,000
OO0 gatze| g§aldsE & 25,000
OEE A O=s AN 20,000
OMHOF &k B == A H| 20,000
OU0L 2402 ERUAE B 15,000
OU0r E40LE =2 &l 15,000
oot &= vE s 30,000
oot 2unel stsd 2 30,000
OMdll FAEANE ME = 25,000
U, 28 F| 30,000
03 Al& 201l 1,872 1,800 72
OFoU=2ANY S 260,000,000& *0.72% 1,872
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2M: ot
M HAES2QAH (O )

col: olziE CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HY2FZHI(CHOrH) 219,905 167,291 52,614
ol 2d | 68,890 56,107 12,783
oI 244l 68,890 56,107 12,783
101 @124l 68,890 56,107 12,783
01 2= 65,887 55,045 10,842
OANZHQZRSLH M Z(13Y) 15,837
— 6= 11,6343 «4H «10A 2t 128 5,585
= 10,5093 x3H x10A| 2t+ 128 3,784
— 8= 9,434 «3H «10Al 2t 123 3,397
- 9= 8,528& *3H «10Al 2tx 1228 3,071
Ooxzuz=e+¢ 10,026 & »13H «32A1 2+« 122 50,050
4 D12t ZE2XREES 3,003 1,062 1,941
Ol - tHEER 111,217,000& *2.7% 3,003
Jl23&dl 151,015 111,184 39,831
Jl2zl 151,015 111,184 39,831
201 Let24E] 59,395 58,028 1,367
01 At 22l 35,959 35,814 145
OYer4+8H ZXHY 22,579
oL 50,0003 12«52 2,600
O=&tdl SHAH & 7,840
OAZE H&22 =& Sl 2,940
02 2324l 23,436 22,214 1,222
03323 ¥ HMA SHAL(SE, &I, &t
=23z 8) 11,736
OLZXd &-HE CCTV 24l
100,000& »12& 1,200
OAIZZHl RXH SHAH A 3,500
O2gslE & (1) 4,500
O&r=2 &3 Xt (10H) 2,500
202 04l 40,080 38,256 1,824
01 = LH Yl 6,480 7,056 A576
OHZYRFT SUAL 5,040
OJNEAAHNESEZR =X 60,000& x22 128 1,440
02 WO 33,600 31,200 2,400
OEHNH 200,000& 14K« 123 33,600
203 YR =&l 10,840 10,200 640
01 J|22F P2 =8| 6,600 6,600 0
OJZ2Z YR8l 6,600
02 et = &H| 640 600 40
OIS R F= &Y 40,000& x16H 640
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2N

CHote

HE: Y2 YA (HOHE)
¢l =gl CEE-ED
= _ = d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

04 EME2EYRFTH| 3,600 3,000 600
ORN2EYERFAH 300,000& »12& 3,600

204 MR FH| 4,200 4,200 0

01 MM SR+ HH| 2,400 2,400 0
OXNHUBTY2FTH| 2,400
-8 150,000& »1H «12& 1,800
— 28 50,0003 x1H » 12 600

03 EZ YR 1,800 1,800 0
ONSYRESH 100,000& »1H «12& 1,200
ONMRLERESHI 50,0003 x1H 12 600

401 AIEHIZ 2 I 35,000 0 35,000

01 A& HI 35,000 0 35,000
OPIARA STH(BA 9% 2 D ) 35,000

405 TtobFH S| 1,500 500 1,000

01 AL ESFH SH 1,500 500 1,000
OQ&A ATl 150,000& =104 1,500




N & O & & E A A
SN Qe
M s A
el X #E A CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
QzH 734,928 585,086 149,842
Qs AHZZ 526,768 387,709 139,059
TUXHEHAS 108,059 79,366 28,693
o FHEH 10,100 10,100 0
301 LPEAZF 10,100 10,100 0
09 HALAHIXI &3 10,100 10,100 0
OBdENs & 3 4 24 2,100
OHE2Y XMHEA =& S 8,000
EZ2Y &ZF Fl 62,026 36,022 26,004
101 @124 dl 30,026 29,022 1,004
04 DIt 22 XREES 30,026 29,022 1,004
O==2Y ZHIDI 120,000 * 10 x5 33| 18,000
OM=X & M &= MH 68,7202 x5H +x5 1,718
O¥ga S&tZ2 SHlII 68,720& x5H 102! 3,436
OJ2(E=E)ster & 22 27
68,720 x10Z 10 6,872
201 Let2d] 2,000 2,000 0
01 At 22l 2,000 2,000 0
O&EAN E JIZ23tE 22| 2,000
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OJzstet & EXIR EF AN & 24
2,500& *2,000=2 5,000
401 AIEHIZL 20 25,000 0 25,000
01 A& tl 25,000 0 25,000
ast AZ¥ F 10,000
OJzstt & X233 2% F 15,000
Asggiid X 2,304 2,304 0
301 LEtEBA S 2,304 2,304 0
04 HtESLHUHAHXA 2,304 2,304 0
ONESLHUHIY OFAlHI
4,000 x24H x23| « 123 2,304
HAALS 8,324 8,208 116
101 @124 dl 4,124 4,008 116
4 D12t Z2XEES 4,124 4,008 116
OBtA LA A& 68,7203 x 1«60 4,124
206 = Hl 4,200 4,200 0
01 MHZ 4l 4,200 4,200 0
OgIAMNY RF SHA 4,200
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SN Qe
M. HNSHBH(2EHH)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
ol A H| 68,032 66,007 2,025
101 @121l 68,032 66,007 2,025
01 2= 66,130 64,824 1,306
OAZRA2L4E HHE(13H) 16,080
— 62 11,6342 x5H »10A| 2+ x12& 6,981
73 10,509& *2H x10A| 2tx12& 2,523
— 83 9,434 x4 «10A| 2+ x 128 4,529
- 92 8,528 x2H x10A| 2tx 128 2,047
Oz 10,026 & x 13 *32A| 2+ x 128 50,050
04 J|I2tH 22 NHEE+ 1,902 1,183 719
Ong - Mgz 70,436,000& *2.7% 1,902
Jl=23tl 140,128 131,370 8,758
Jl23Hl 140,128 131,370 8,758
201 LEt2 Y| 63,508 59,314 4,194
01 AP 22l Yl 38,529 35,550 2,979
Ogets2 S HAH A 22,305
ogx e 50,0002 x 1 x52! 2,600
OS2 SHH A 7,840
OAZ a2 =7 2| 2,940
OFAF H4=D], Hld SX 224l
353, 100& *43] 1,413
OFAN SIFEI KX 22l
119,200& = 12& 1,431
02 332Z 4l 24,979 23,764 1,215
O22222 % MA sSdHHA(RH, &I, Aot
2ER2 5) 13,279
OzaXS ¢eHEZ CCTV 2 I
100,000& = 12& 1,200
OAEEH SXH ZHH A 3,500
OA83s=2 XEdl (1) 4,500
Ol &gt xbafdl (10H) 2,500
202 (4] 40,080 40,656 NB76
01 2L Y] 6,480 7,056 N576
OFLREX ZUH 4 5,040
ONsHHSELR A 60,000 x2 x12& 1,440
02 EAHNYI 33,600 33,600 0
O A0 I 200,000& x14H x12& 33,600
203 & R =&lY| 10,840 10,200 640
01 J229 P RE=XY| 6,600 6,600 0
OJ22H R =AY 6,600
02 3ROt E R =AY 640 600 40
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= o
A & 0l & AF 2 E A A
N 22H
M 22HE A
ool AT A EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s4d 707,941 630,023 77,918
L0 AZ I 538,422 407,602 130,820
TxHEy A 70,909 69,118 1,791
o FHEH 10,100 10,100 0
301 LPEAZF 10,100 10,100 0
09 HALAHIXI &3 10,100 10,100 0
OBdENs & 3 4 24 2,100
OHE2Y NMEA =& S 8,000
E2H & F 33,652 31,350 2,302
101 @124 dl 28,652 26,350 2,302
04 DIt 22 XREES 28,652 26,350 2,302
O==2Y ZHIDI 120,000 * 10 x5 33| 18,000
Oz M=Kl & Mg = MA
68,720 x5H x5 1,718
OJzstet & 22 =4
68,7203 x8H x5 23| 5,498
Oos¢ttz s &= MHA 68,7203 x10G 5 3,436
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
OJzstet & 22X e + 5,000
AELHHARE X 3,648 3,648 0
301 LPEXZ 3,648 3,648 0
04 HtSLHUHAH XA 3,648 3,648 0
OXsSYHU2Z OFAlHI
4,000 »38H »23| <123 3,648
BALS 9,698 10,344 A 646
101 14 Hl 5,498 5,344 154
04 JIZtHZ22XEES 5,498 5,344 154
OdtAH YIS 68,720 x1H x802! 5,498
206 = Hl 4,200 5,000 A 800
01 MHZ 8l 4,200 5,000 A 800
OgdIAY 757 SHAY 4,200
SESI=Y 23 8,811 8,676 135
101 @124l 4,811 4,676 135
04 JI12ZtHZ22HEE = 4,811 4,676 135
Ozs==2% 2l 68,7203 x1H 22 35 4,811
201 ¢4l 4,000 4,000 0
01 At 2t 2l 3,000 3,000 0
OoZeles FLY (&N, BEA88 8) 1,000
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2N 2T
M 22HE A
ool MHBE A (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAL72 =4t 2,000
02 2324l 1,000 1,000 0
O=22= % HMA SN A& 1,000
ER0I2 M8 FHH| 5,000 5,000 0
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
O&=cl 23 7¢ 5,000
oot E3EAL =& 11,300 7,300 4,000
HOotot= 2stes N3 6,000 6,000 0
307 g2+l & 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OOt 23E8s S MK 6,000
HdS23 AlH 1,300 1,300 0
301 LEEAS 1,300 1,300 0
09 HALAHIX &S 1,300 1,300 0
Ogxg)| EAIBA(H22H) 1,300
AHOHZ A ALY 4,000 0 4,000
301 LA F 4,000 0 4,000
09 #HALAHIXI& 3 4,000 0 4,000
OKNZSA 27 S2S THZEAE A
2,000,000& x23| 4,000
| <3O 2 ALY 456,213 331,184 125,029
A2 FFHA HA 275,868 275,820 48
101 @124 dl 1,718 1,670 48
04 12t Z2XEES 1,718 1,670 48
Osd&d &l 68,720 2504 & 1,718
201 et 22,350 22,350 0
01 At 22l 15,950 15,950 0
og x =z 15,950
— YR FA(MoH ) 15,950
WS 550,000& 20 11,000
g = 550,000& x99 4,950
02 2324l 6,400 6,400 0
OsdE, B8 sX2e 100,000 *64H 2= 6,400
401 AIEHI L 20HEI 251,800 251,800 0
01 A& HI 250,000 250,000 0
OXtHl -2ti+==2 &l (L=30m) 25,000
O3 MNB =2 EZ(L=200m) 20,000
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2N 2T
M 22HE A
SHl: X% ALY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYor &at =2 EE(L=240m) 25,000
O=4b orgh ok gl gi4=2 A dl(L=180m) 20,000
OR & Jtti==2 &bl (L=200m) 20,000
O &dui+==2 FHdl(L=220m) 30,000
O3 sl =2 ZFE(L=200m) 25,000
ONdeAEAIE L =2 HUl(3HA) 25,000
oobtsord 2 Mgz FHul(3MA) 30,000
O&s2%, 23 Fl 30,000
03 Al 2 0HHI 1,800 1,800 0
OAIZ S HHI 250,000,000& *0.72% 1,800
2Z X = ZH 180,345 55,364 124,981
101 1A Hl 95,515 50,534 44,981
04 JIZHHZ2XREE S 95,515 50,534 44,981
O&fAtet 24K 2el & ARl 65,345
— =LA =8 68,7203 x 10«50 34,360
FR =24 68,7203 x 10«15 10,308
—HEERE IO HERY
120,000 *4H 2 x4 3] 3,840
—HEFENE DO FEH
68,7203 x5H x3 33| 3,093
— S M= A & =8
68,720 x 10 20 13,744
OatAtst AT &0 & AaXd 21,991
—=54 68,7203 x20H x10 13,744
— % EHI 68,7203 x12&H 102 8,247
OsAZ =4 68,7203 x5H »x3 1,031
OUW&A & 22| 68,720 x1H »802 5,498
Odtblel ZHAIE =¥ FHI(Z=E S)
68,720 x4H 62 1,650
201 Let24d]| 1,200 1,200 0
02 2324l 1,200 1,200 0
OIS (HLAMA SHEA) 50,000& +12& 600
O&42=2Z2(HAME s&4A) 50,000&8128 600
206 T 2 b 83,630 3,630 80,000
01 =8l 83,630 3,630 80,000
O =x&2el M= 2 3,630
— gt 4 14,300 *50H »23| 1,430
—JIAxELH 22,000& *50= *23] 2,200
O&Atat 22 2¢ 80,000
—=5g =¢ 500& =100, 0004 50,000
—ZAE =4 500& =60, 0004 30,000
HY2IZH (BLH) 169,519 222,421 A52,902
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2N 2T
M A HH(S2H)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ol 23| 59,966 70,071 A 10,105
[elals] 59,966 70,071 A 10,105
101 2124 d| 59,966 70,071 A 10,105
01 2= 56,288 67,945 AN 11,657
OA2RA2 L4 HH2(11H) 13,938
— 62 11,6343 x4H »10A| 2+ x12& 5,585
—-72 10,509& x5 x10Al 2t x 128 6,306
-9 8,528 x2H «10A| 2+ x 128 2,047
Oxh22E 10,0263 *11H *32A 2tx 12 42,350
04 JI2ZtH 22 XNHEE =+ 3,678 2,126 1,552
ONE - MHEBE = 136, 194,000 *2.7% 3,678
Jl22Z bl 109,553 152,350 N42,797
JlE23Hl 109,553 152,350 N42,797
201 Yer2 Y| 59,233 59,694 £ 461
01 AFR2t2l Y] 34,452 36,125 AN 1,673
Ogbt42H S XA A 21,072
Oga Y 50,000& *1H 52 2,600
OSHl SHH & 7,840
OAE g2 3 2l 2,940
02 3524l 24,781 23,569 1,212
O3323 % MHA SdHHA(RHE,&I|, 40
T2 5) 13,081
OzX s HHEZ CCTV 2 I
100,000& = 12& 1,200
OA&EZHl SXIH &HAH A 3,500
OAdgstE xHFHI(1TH) 4,500
OAtE XSRS (10H) 2,500
202 04d| 35,280 38,256 N2,976
01 2LHOHI 6,480 7,056 N576
OHFARFX SHAH A 5,040
ONEHHSELR =X 60,000& x2 x12& 1,440
02 AN Y| 28,800 31,200 AN 2,400
OEHAHYI 200,000& *12H «12& 28,800
203 @2 XA Y| 10,840 10,200 640
01 J|2A2I9 PR =&Y 6,600 6,600 0
OJ|a2dgdF=ay| 6,600
02 RN R =AY 640 600 40
OFAINAMARFEY| 40,0002 =164 640
04 ENSIHRF=EY| 3,600 3,000 600
ORNMSgIRF&Y| 300,000& x12& 3,600
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= o
A & 0l & AF 2 E A A
2N 2N
M ZAHE AFZ
Sl XREI A (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Eag e 716,594 525,968 190,626
=TMEHE A =l 543,004 358,726 184,278
TUXHEHAS 77,327 70,838 6,489
=0 J30 #3H 11,100 10,100 1,000
301 LPEAZF 11,100 10,100 1,000
09 HALAHIXI &3 11,100 10,100 1,000
OBdENs & 3 4 24 2,100
OHE=2Y XM AT S 9,000
E2H & F 38,401 38,026 375
101 @124 dl 33,401 31,026 2,375
04 JIZtHZ22 s 33,401 31,026 2,375
O==2Y ZHIDI 120,000 * 10 x5 33| 18,000
2T4 SH2 FH| 68,7203 x 10 x4 2,749
OJt=zstet & 224 X4 68,720@+10¥«10 6,872
OM=X & Mg &= HH 68,720&+«5H 5 1,718
Oz (28UR) Az2e]
68,7203 x 10 3 2,062
OFEAMN E Ii=2ss dF 2,000
206 M= Hl 5,000 5,000 0
01 MHZ 4l 5,000 5,000 0
OJtzstet & Z2ZXE e ¢ 5,000
Asggiied A 2,304 2,304 0
301 LA F 2,304 2,304 0
04 A2 LHUAHIXA 2,304 2,304 0
OS2I E OFAlHI
4,000 x24H »23| « 123 2,304
LALS 8,324 8,208 116
101 @14 dl 4,124 4,008 116
4 D12t ZE2XREES 4,124 4,008 116
OotAH AL S 68,7203 x 1«60 4,124
206 = Hl 4,200 4,200 0
1T M=l 4,200 4,200 0
OgIAMNY FF SUA 4,200
SX g2 22 17,198 12,200 4,998
101 14 Hl 4,998 0 4,998
04 JI1ZtHZ22 s 4,998 0 4,998
O=Xlglz 2e| 68,720 x8 9 4,948
OdMMEEZ 4,948,000 *1% 50
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2N 2HS
Ha: NS AR

CHelt XIS N ALY (S &2)
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
02 2224 H| 6,500 6,500 0
Oz, 2 S22 100, 000& *65JH 2 6,500
401 Al HI L £ 0HHI 260,865 251,800 9,065
01 Al& H| 259,000 250,000 9,000
OntsS1el =2 &l (L=100m) 20,000
Ogt=21e| =2 ¥ =2 & H|(L=200m) 22,000
Oot=232l =2 =l (L=100m) 20,000
OssHel 42 &l (L=100) 20,000
OY Azl =2 =& (L=200m) 20,000
Ogatiel B2 & 4| (L=100m) 20,000
OssHel =2 A d|(L=200) 24,000
OODHAH 2] T 2 g2 A X (L=100m) 20,000
OYAHel =2 AY|(L=400) 28,000
QJFAL22] i 4=2 " Y| (L=230m) 25,000
OMHAE AL HWES 20,000
Osdd, 28 HH| 20,000
03 Al&E 201 Y| 1,865 1,800 65
OF0U=2ANE S 259,000,000 *0.72% 1,865
1002 22 X4 68,662 0 68,662
101 2121 H] 6,872 0 6,872
04 JI2ZtHIZ22NEE S 6,872 0 6,872
OLExE2 B4 S 68,720 20 x5 6,872
201 et 5,000 0 5,000
01 AR 22l ] 5,000 0 5,000
OASHS |4 JH YXE S
500,000& x10 5,000
206 M = dl 56,790 0 56,790
01 X2 bl 56,790 0 56,790
OxR&Ex 82 900& *13,500m 12,150
oZ3zE2 22 24 ,000& «1,500H 36,000
ony sXt 720,000 *12ha 8,640
1002 22 DI&Y FEx 234 X4 100,000 0 100,000
1002 22 0I&Y REx 254 X4 100,000 0 100,000
401 Al HI L £ 0HHI 100,000 0 100,000
01 Al& H| 99,100 0 99,100
01002 Z22& 0IEY PFExX 234 =4 99,100
03 AlE 201 Y| 900 0 900
o102 22 01EY PEx 2SS4 =4
100,000,000 *0.9% 900
HES2AAH (ZEAMH) 173,590 167,242 6,348
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SN 2A
B NSRBI (RMD)
chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
eI 2l 62,563 51,029 11,534
ol Al 62,563 51,029 11,534
101 @124l 62,563 51,029 11,534
01 2= 61,169 50, 136 11,033
OANZ22R4ag HHF(13Y) 14,969
— 6= 11,6343 x5F 10AI 2t x12E 6,981
—72 10,5093 *x3H «10Al 2t+ 128 3,784
— 8= 9,434 x1H 10A| 2t+ 128 1,133
—9= 8,528 3 x10Al 2t+x12& 3,071
oxzuz=e+¢ 10,0263 x 12 #3241 2+ x12& 46,200
4 JI2ZtHZ22 s+ 1,394 893 501
ONE - MHEEE 51,595,000& *2.7% 1,394
Jl=&dl 111,027 116,213 A5,186
Jl2234 111,027 116,213 25,186
201 L Er2A | 58,947 60,517 A1,570
01 At 22l bl 36,560 38,038 A1,478
Oer=ZHl SHAH & 23,180
oL 50,0003 » 1% x522 2,600
O=etl s9A& 7,840
O2& H&a2R =& Sl 2,940
02 2324l 22,387 22,479 292
03323 % HMA SHAL(SE, &I, &t
=2z 8) 11,887
OAIZ ZHl RXH SHHE 3,500
OAE3E XHEHI(1) 4,500
OO0l SYH X+l (1CH) 2,500
202 o4 Hl 37,680 40,656 A2,976
01 = LH 4 bi 6,480 7,056 AB76
OBEYRFI SAA A 5,040
O AHSEYE =2 60,0003 x2 128 1,440
02 M0 31,200 33,600 A 2,400
O Mo 200,000& =13 «12& 31,200
203 R =&t 10,200 10,840 A 640
01 122 =4H 6,600 6,600 0
OJ22dgR=aH 6,600
02 It =&Y 600 640 240
OFA IR =AHI 40,0003 x15H 600
04 FN2ELRZ=TH| 3,000 3,600 A 600
ORAM2IYRFLHI 250,000& 128 3,000
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FHZANH
3 HIYRIIH(ZAH)
gl 23l

SA - ZE-B(EA) - NRAY - B S il &t o il

204 AR HH| 4,200 4,200

NEFEEEESEL 2,400 2,400
OXBZYLFTY| 2,400
= 150,000& 1H 128 1,800
—2HE 50,000 x1H 128 600

03 EZ3YSEHI 1,800 1,800
ONEg 2=t 100,000& 1H 128 1,200
oMY=t 50,000& x1H «12& 600
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N = 0l & At & Ml A

2N 2dH
HzM: 2 AP AHH|
Sl NXH A (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
=l 729,455 725,195 4,260
o e AE A 535,947 518,907 17,040
XSy A 100,551 87,525 13,026
=0 N 11,100 10,100 1,000
301 et A =2 11,100 10,100 1,000
09 #HAIAHI XIS 2 11,100 10,100 1,000
OHEENG & SHG & B4 2,100
OHESY NMEA =& S 9,000
cgdH sd 3| 44 775 39, 362 5,413
101 Q124 H] 32,775 32,362 413
04 JI2ZtHIZ22NEE S 32,775 32,362 413
O&=zH ZEH|2| 120,000 *10H x5 x33| 18,000
o2 Jegegdzs & FHEZ EH D]
68,720 10 x5 3,436
OM2AL SHZ U F¥ T28 2]
68,720 x5 8L 2,749
OXME=X & Mg &2 MAH 68,720) x5 x5 1,718
OJdizgs & 22 X4 68,720 10 x 10 6,872
201 et Y| 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OFAN & JIESH A 2,000
206 M = Hl 10,000 5,000 5,000
01 M =4l 10,000 5,000 5,000
OJizstst & Z22XH HE P2 10,000
AgstHiied A 2,400 2,400 0
301 et A =2 2,400 2,400 0
04 AIsHHMHAH XS 2,400 2,400 0
oxXsgguesd oraldl
4 ,000) 25H x23| x12& 2,400
gAAN=E 8,324 8,208 116
101 e1214| 4,124 4,008 116
04 JI2ZtHIZ22NEES 4,124 4,008 116
OdtHgA LS 68,720& x 12 60 4,124
206 M = H| 4,200 4,200 0
01 X2 Hl 4,200 4,200 0
OYAANY RF SHA A 4,200
2X 32 22 14,644 11,444 3,200
201 et 9| 14,644 11,444 3,200
01 AP 2t 2] H| 2,400 2,400 0
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NS AFS 353,828 342,467 11,361
A2 FFHA S 229,258 319,843 A 90,585
101 2121 d| 2,268 2,205 63
04 JI2ZtHIZ22NEE S 2,268 2,205 63
Os&d & &bl 68,720 334 & 2,268
201 et d| 25,550 25,550 0
01 AFR 2t 2| bl 15,950 15,950 0
oY x 2 15,950
— A=A (MUY S) 15,950
BHS 2 550,000 x20 11,000
g = 550,000 x9&! 4,950
02 2324 9,600 9,600 0
Osdd, 2 S22 100, 000& 964 A 9,600
401 AlEHIZL 2 0HY| 201,440 292,088 A 90,648
01 Al&H| 200,000 290,000 A 90,000
o492 42 A4l (L=130m) 20,000
Outeg] =2 2 42 HHl(L=150m) 40,000
OMHAE AL WE S 40,000
OBH&EH 2 AE4 50,000
Osdd, 23 &l 50,000
03 AlE 21| 1,440 2,088 A\ 648
OF0=2ANH S 200,000, 000& *0.72% 1,440
22X = H| 24,570 22,624 1,946
101 @1 21| 12,370 12,024 346
04 JIZtHI22NSEES 12,370 12,024 346
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SN Bas
HE: pHs AABY

SHol: XL M CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYEE RE2S IS 22l(4Hh)
68,7203 x 18 180 12,370
201 L2l 12,200 10,600 1,600
01 At 22l 2,400 1,800 600
Otz 2288 FL(aEA, EAESE 8)
200,000& =122 2,400
02 =224l 9,800 8,800 1,000
O2Z223 (M3, dot=Eea )
400,000 123 4,800
OA&EHl Sl 5,000
SEMA HYE HA L 100,000 0 100,000
401 Al HIZ 201 bI 100,000 0 100,000
01 A& HI 100,000 0 100,000
OZd&He 84 20,000
OfIEAE HH 20,000
Oodgstx4d 30,000
OXNSEAM 30,000
HY2FZH (BLHH) 217,615 217,266 349
ol 2d | 80,338 71,376 8,962
oI 244l 80,338 71,376 8,962
101 @124l 80,338 71,376 8,962
01 2=+ 75,980 69,241 6,739
OANZ2R4sg HHF(15Y) 18,230
— 6= 11,634 x4H 10A| 2t %128 5,585
—7= 10,5093 »4H «10A| 2t+ 128 5,045
— 8= 9,434 «4H «10Al 2t 123 4,529
- 9= 8,528& «3H «10Al 2tx 1228 3,071
oxzuz=e¢ 10,026 & »15H «32A1 2+« 122 57,750
03 RIAHAZZ2TE = 1,800 0 1,800
OsgAtd2tel d2F& 0l
10,0003 x1H« 152« 12& 1,800
04 JI12ZtHZ22 a2+ 2,558 2,135 423
Ol - tHEER 94,728,000& *2.7% 2,558
Jl23&dl 137,277 145,890 A8,613
JlE2ztl 137,277 145,890 A8,613
201 2et24d] 75,037 73,784 1,253
01 At 22l 43,908 43,841 67
Oger=ZHl SHAH A 27,448
ogxg 50,0003 12«52 2,600
O=&tHl SHAH & 10,080
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SN e

Bu: G A
Sl XREI A (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
101 @121l 9,621 9,352 269
04 JI2ZtH2Z2XNHEE 9,621 9,352 269
O3zsEd 22l 68,720 x2H %22 x353 9,621
F0IgIer i St AF F A 8,000 7,300 700
0ot= E2sEs N 6,000 6,000 0
307 212t01 & 6,000 6,000 0
04 QIZHSHAFAIE 2 X 6,000 6,000 0
OOt 23S S HAXNA 6,000
HNEES AlH 2,000 1,300 700
301 deEtE X = 2,000 1,300 700
09 #HAIAHI X &= 2,000 1,300 700
Ool=AH)| S8 AM(CHRH) 2,000
PNRS-DJ = N aea! 274,465 273,428 1,037
A2 F0HA NA 232,856 232,856 0
201 L2 Y| 1,200 1,200 0
02 33249l 1,200 1,200 0
Osdd, DES A2 100, 000& * 1200 2 1,200
401 Al HI L 20 HI 231,656 231,656 0
01 A& HI 230,000 230,000 0
O =ZBHAIE A X 1,000,000& x10JH 2~ 10,000
oMYl Sc2lAldE &X 25,000
Osot<d =2 Al 20,000
OgZ otsot2 Z & (L=100m) 25,000
OMX 2 Hi#lalA &X(L=20) 10,000
Os0& &2 L& 25,000
OO0l =2 & 20,000
OAotz OFs2et2 JH A (L=120m,B=1m) 25,000
OAote: 28 A3 20,000
OTHMNAE AL HE S 35,000
OsZdE, 28 &4 15,000
03 A& 20HH| 1,656 1,656 0
OFU=JAAMNY S 230,000,000& *0.72% 1,656
MY DA E 22 2H 41,609 40,572 1,037
101 @121 37,109 36,072 1,037
04 JI2ZtH 22 XNHEE =+ 37,109 36,072 1,037
oMgD =l & HXE 22|
68,7203 *3H x180 37,109
201 et A | 4,500 4,500 0
01 AFR2t2l Yl 4,500 4,500 0
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SEEET
M S EH MY
Sl NGHL A )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMYJl=AH ot =& 100,000& »12& 1,200
OMII=A & HEE SEFHY FHAXE(
& - ot E,&00,0t0H) 550,000 x6 3,300
HY2AZH (LEH) 214,030 231,591 A 17,561
A2l 48,592 56,690 A 8,098
ol i 48,592 56,690 A 8,098
101 1244 Hl 48,592 56,690 A 8,098
01 2= 46,176 50,136 A 3,960
OAteZ2RS" FHZ(9Y) 11,526
— 6= 11,6343 x4H «10A| 2t 128 5,585
—-7=2 10,5093 *3H x10Al 2t 12& 3,784
— 8= 9,4343 «1H «10Al 2tx 128 1,133
- 9= 8,528 * 1P «10Al 2t+123 1,024
Ozu22+¢ 10,0263 »9H »32A| 2t x 12E 34,650
04 JIZHHZ2Z2XNESE S 2,416 1,775 641
OnE - MHEEE 89,448,000& *2.7% 2,416
|2 Zdl 165,438 174,901 A 9,463
JlE&l 165,438 174,901 AN 9,463
201 Yet2 | 112,058 118,091 /6,033
01 At 22l 78,848 83,387 A 4,539
Oget==EHl SHN & 19,308
o2g+g 48,000
-2 50,0003 x2H 115 11,500
— =3 50,0003 x2H 3652 36,500
Ot 9 & 5,120
O2AE H&ZR =X Sl 2,520
og x =z 3,900
—XNEM HEgHE+ & SHNBEFE d2H
Xt 300,000& x63| 1,800
—HEMAMY =X SFEOI(Y &, St
MR EH) 300,000& =33l 900
—EM=3 0ls 24 2% 300,000 *43] 1,200
02 =24l 33,210 34,704 A 1,494
02223 % HMA SHAL(SE, &I, &t
=2z 8) 17,880
O2tAt U AZHI(ER)
8703 *2.50 *10AI 20 *30 A x120 7,830
OAIZZHl SXH SHH & 3,000
OA28sl2 XH&HI(1H) 4,500
202 044l 36,960 38,640 A 1,680
01 SLHOIYI 12,960 12,240 720
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